1 [Ef/ A0 L7a3—XAREEEK]

SEAE | BREEAR | BRGEEE | 2RASR i E
RAATHE  |# e 2 B & SR b
(A) (B) (C=B/A) (D) (E=D/A)
B & Ed pR Ed 553 BARANER 15 16 5. 07 14 4.93
SEANERE 5 33 6. 60 32 6.40
a &t 20 109 5. 45 106 5. 30
2 [ERSEALRERGAZERE MABR, BASK, ABHER. FRESKR, REBR. ABIHERRUBLHBESHR) ]
SEAE | BREEAS | BRGEEE | BRAR AL E
RAETHRE |2 5 % B4
(A) (B) (C=B/A) (D) (E=D/A)
;o T a = 1] 20 48 2.40 47 2.35
w5 H A = 1} 20 42 2.10 42 2.10
B % |m B g & @ 20 53 2. 65 53 2. 65
o T a2 [i] = ;] 20 19 0.95 18 0.90
it i 5 " ;] 20 67 3. 35 67 3.35
H VAN 9B T #4 LEMOKYIE 15 20 1.33 20 1.33
2 # i T a 8 =) 20 43 2.15 43 2.15
a &t 135 292 2.16 290 2.15
3 [ERSNEALRERRAZERE (—BER, BEBR, REBRRUBIIEHR) ]
EEAE | BREEAR | BRGEEE | BRASR AL E
RAATHE  |% 5 2 B & - #n
(A) (B) (C=B/A) (D) (E=D/A)
T+ H — i = ;] 1 &B 10 23 2.30 22 2.20
2 &R 10 10 1.00 10 1.00
&t 20 33 1.65 32 1. 60
7 R % B =" ;] 1 &B 10 9 0.90 9 0.90
2 &p 10 6 0. 60 6 0. 60
H 20 15 0.75 15 0.75
2 i ¥k 23 =1 G} 1 &B 10 12 1.20 12 1.20
2 &R 10 1 0.10 1 0.10
F 20 13 0. 65 13 0. 65
i) w J =1 ;] 1 &R 10 13 1.30 13 1.30
2 &R 10 11 1.10 11 1.10
&t 20 24 1.20 24 1.20
a &t 80 85 1.06 84 1.05




